RSPT 1060
MATH HOMEWORK — A3

WORKING WITH %, Ratio, Proportion & Fractions — Be sure to round properly.

DIRECTIONS: Perform the calculations first following the rules without a calculator then check
your work with a calculator.

PERCENTAGES & DECIMALS — Be sure to round properly

Convert from a percentage to a decimal.
1. 33% =0.33

2. 0.93% = 0.0093 = 0.01

3. 3.5% = 0.035=0.04

4. 0.023% = 0.00023 =0

S. 45.7% = .457 = .46

Convert from a decimal to a percentage.
6. 4.57 = 457%

7. 77.9 =7790%

8. 0.87=87%

0. 0.065 = 6.5%

10. 0.0021 =0.21%

RATIOS & PROPORTIONS

1:1 ratio = Inhalation time of 0.5 seconds and Exhalation Time of 0.5 seconds

1:2 ratio = Inhalation Time of 2 seconds and Exhalation Time of 4 seconds

1:3 ratio = Inhalation time of 2 seconds and Exhalation Time of 6 seconds

The ratio is 1:2. Inhalation time is 0.5 second and Exhalation time is 1 seconds. Now double the

inspiratory time but maintain the ratio. What are the new Inhalation time 1.0 seconds and
exhalation time 2.0 seconds?



FRACTIONS — Report all answers in simplest (lowest) terms.

1. Circle the one that is bigger?

@» 1/8
<X
el 1/12

2. Circle the one that is bigger?
3/50
or 5/25
3. Putinto simplest (lowest) terms.
4/12 =1/3 9/36 = 1/4
6/18 = 1/3 7149 = 1/7

4. Add the fractions:

yr+am= 134
77777
1 5 1.6 5 6 11
_(=X=o)+(=X)= + =
1/6+1/5-(6 5) (5 6) (30 30) 20
~ 2wy A3y A3 7 41
23+ 122 (GX )+ (XD =(c+2) = =1

S

15 8 23 3
_+_) —
5

12

3/4 + 2/5 = (S X
4 20 20 20 20

2 4
)+(§XZ)=(

5. Subtract the fractions:

s4-25= Cx-ExHh- B8 *
475 574’720 20’ 20

a7 —e7=2-8_22
7 7

2g—213= 2x3)-(2x 8- (b _16y_-10_-5
873 378 24 24 24 12



8
8

4/5—7/8:(£X )—(ZXE):(g_E):__:3
5 8 5 40 40° 40
6. Multiply the fractions:

a5 x 8= X L2220t

8 40 20 10

2/3 X 9/16 = %xi:§_1=§

16 48 24 8
7. Divide the fractions:

2/3 divided by 1/4 = §+

5/6 divided by 2/3 = 2+ 2 =2x 315 _5 41
6 3 6 2 12 4

8. Add the mixed fractions:

2 1 2.4, 1.5 8 5
225+114=Q2+D)+(E+2)=3+([EX ]+[=X ) =3+ (= +—)=3
(2+17) (5 4) ( 4] [4 5]) (20 20)

5

3

1 1,5 .34 5 12
11/4+335=1+3)+(E+D) =4+ (=X 2] +[oX 2] =4+ (= +=5) =4
(1+3) (4 5) ([4 5] [5 4]) (20 20)

9. Subtract the mixed fractions:

13/4-2455= 1 _(Tx5_ My 4_ 3556, -21_
45 ‘475 574720 200 20

22/3-3318= 227 _Bx 8 _ (&3 _84_8L _-17
3 8 3.8 '8 3 ‘24 24 24

10. Multiply the mixed fractions:

23/5X45/8:%Xg—7=4—81=12i

8 40 40

11/3X24/5:% E=E—3ll

5 15 15

1

20

13

20

17

20



11. Divide the mixed fractions:

2 13 divided by 1 1/4 = L2 I x 4 _28 413
3°4 35 15 15

3 3/4 divided by 11/2= 2231952 _30_,1
4 2 273 12" %2

12. Convert the fraction to a decimal:

75
34=14 )3

0.833
5/6 = 6 )5.00

13. Your test score was 45. The total possible was 50.

To convert this to a decimal, divide your score by the number possible.

0.9
45 = 50)45
50
To convert to a %, multiply by 100 = 0.9 X 100% = 90%
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